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1 1 1
10. (a) p(AF 1 I=d) = g,p(ﬁ?ﬂ HI 3H) = - DT T IAM) = 5
1 1
p (T T =) = g PR =7
11. (@) 0.20 (b)0.17 (c)0.45 (d)0.13 (e)0.15 (f) 0.51
12. (a) S={B,B,,BW,B,B,,B,W,WB,,WB,BW,,BW,,W,B,W,\W, ,W,B,W,W, }
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16. (a) p(A) = .25, p(B) = .32, p(AnB) = .17 (b) p(AUB) = .40 (c) .40 (d) .68
17 Lol w 18. A 19.B 20.C 21. C
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22. D 23. A 24.A 25 C 26.B 27.C 28.C 29. B
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36. = 37. 015  38. 03 39. E={2,4,6}  40.0.20

41. 02 42, (@) < (iv) (b) © (v) (©) < (i) (d) < (iii) (e) <> (ii)
43. (a) & (iv) (b) « (iii) (¢) <> (i) (d) < ()
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